EROFEFPELRREFERSR 20234E5 A13H (£)
¥ BEAREEXNRK= RE—ER
ST A L 2 B R LS
B FiH 147 24 34 447 5{ 6 74 8
H¥{5/13 100m |fadk  M&E(1) 1102 I GER (2) 1104 THE &K (©2) 11.53 |fafs o 11.63 |23 4HE(2) 11.80 |HR  BA®) 11.80 |# /5 5% (3) 11.80 |JHAf  with(2) 11.84
SRR +2.2 |1 +2.2 |FFRE +2.2 |NA +2.2 |LODESTARAC +2.2 |PRNH +2.2 |fEdE +2.2 |t +2.2
BT{5/13 200m |[JEFE &K (Q) 23.37 | =% #K®) 23.80 |APRH  #(2) 24.05 |z AR FEE(3) 24.64 |[dTF 45 (3) 25.01 |HHfi: 4B (3) 25.49 |HH i ©2) 26.22 |FH Mk (2) 26. 28
] +0.1 |- +0.1 [T +0. 1 |FHnf +0.1 | TR +0. 1 |FHf 0.1 |YkpE +0.1 |Frif%s +0. 1
BF{5/13]  400m  |[SLUA HIKES(3) 51. 16 |faA< 1(2) 53.03 |55 —11(3) 53. 11 |Jdf Kb (3) 53.48 | Ehk 72 (3) 53.58 |ifAk KN (3) 54.15 | LM 1 (2) 54.37 | BT &R (2) 54. 55
JIZFiE aERG] ML JIZFiE F FrP %S Fr S Frid %
BT{5/13 800m | H  KE(Q) 1:59.58 |Nift  BEK(3) 2:02.59 |#h% 22(3) 2:03.67 |fik B (1) 2:04.83 |BAT &K (2) 2:08.60 | 1 M (2) 2:09.49 (L K (2) 2:10.63 | W 3CHL(2) 2:15. 80
NG i) FH P FR A F Fr g el PR
BFE/13 1500m I A > —afi(3) 4:08.30 |#P4E  HFR(2) 4:11.83 |4ih  HEK(3) 4:13.76 |{EE H1(3) 4:15.06 | KiFE  #IK(3) 4:28.51 |HE &= 4:33.18 | LJ& 308 4:34.10 |y BT 4:35.13
N N N R LT FRIEAC FRIFHAC 7P b
BF{5/13] 5000m |[SIH Z3}(3)  16:30.65
FR A
BF{5/13] 11 0mH |0 SR (2) 21. 17
(1.067m) | FFE -1.3
BF{5/13] 400mH |ifHAK KN 3) 1:00. 25 |Ff#5 o 1:00. 92 |“FHYE ik (3) 1:03.99 |FHZHE ehE (2) 1:05.72
0.914m)  |FrP % NA BAT i)
BF5/130 300 0mS C @ LBEER) 9:30. 15 |# S (3) 9:47.52 [IUA KA (2)  10:01.56 [#°F  BEEE(3)  10:03.52 | KT BB 10:30. 41 |3 5 10:56. 13
(914mm) A NGR | 51 & 7% N il R R
BT{5/13 A E Bk [A%:N 1(2) Im60 |HEA ARG (1) Im55 |[LiA flE(3) Im55 |k BEA (3) Im55 | (LA RS (2) Im50 | KJF #(3) 1m40
NTE NTi SOl TENAT 2V AC B P E
B{5/13 ek Jile KB(2) 3m50 |fiEkt  £EG) 2m70 |\ Ry BR(2) 2m70 | Ty ZZH(3) 2m40
il ik ik Bk
B{5/13 AR A KB (3) 6m25 |t il (3) 6m04 |1 MEZ (1) 5m83 |faJfE  AKEL(1) 5m80 | Faf] Al AHS (3) 5m80 | FIE  aER (2) 5m77 | THE(2) 5m6l |H R HIL(3) 5m59
JIZFE +1.2 | T +0.4 [N -0.2 |NFi#E +0.4 | TR +2.3 [N +1.4 | FREHE +0.4 |BENAT 7 AC +1.5
H¥{5/13 = Bk A Hif=(2) 13m19 |45 BB (3) 12m87
FRR A +0.2 |JIZFE -0.5
BT{5/13 A% WH o HELG) 25m69 | bfE  FREL(3) 24m03
(2.000kg)  |mF=HnE ARG
B{5/13 0 $ A BER(©@) 50m24 |t ARBL(3) 4Tm99 |JEFF EEARRS (2) 36m21 |JIIPN - SRIT(1) 21m16
(0.800kg)  |BhiEs N TR AU TR A
BFE/13] 4X100m [T 43.03 | 47.02 |[ffst 48.94 |FEFa 49. 28 S 50. 00 | i 50. 06 | HIH 50. 11 | KUAEH 54. 31
[2%N 1(2) NGR|  #¥J5 % (3) A AR (2) B &332 EH A (2) AN R (3) T (1) Fie )
Ik RE ) ExE  —HEEO) HA L@ s A 3) Il #(2) Tk ZREEG) WA EE(3) FIRE (D)
VE sk (3) K HKREG) B EE(2) B 1#(2) #k HiEL (2) pANS| W5 (1) itk EREG) PN 4G
IR @) I (2) [ 16 Perx K HERA(3) M i) i M—HE(2) WA K (1) JEME R (3)
BT{5/13] 4x400m |[NTH 4:19.01
BH O OHAEQ)
WA HE
gt &I (D)
I MEsE (1)
TH6/13) 3000m | K& #MIK(B) 9:41.30 | KEE B (3)  10:12.64 |HE fh(3)  10:15.84 [R5 (2)  10:41.91 B3 FIK@)  11:17.97
R FHIf s H H
FHI5/13) 1 10mH |HE  EEE) 17.72 | IA RS (2) 20.97 |Iliks  HE(2) 21.81 |2 S (2) 24. 10
(0.914m)  |BEANA TV AC -0.7 |k -0.7 Skt -0.7 |FFtp -0.7
Tl 5/13 T L Pere K KR (3) 8m80 | 1)1 #(2) 8m70 | Z'E FEAE(R) m93
(5.000kg) | s e e
¥{5/13 300m |=F fKEG) 39. 39
HF- i
F45/13]  300mH |#EE  #k3) 40. 12 |#E L (3) 40.67 |HH  F—(2) 44.42 |FH HRA (2) 46. 55
(0.914m)  |WF T T T
045/13] 3000m |AfA A Q) 9:33.36 |f@iR e (1) 9:33. 78 |kl (1) 9:44.53 | EME (1) 9:49. 05
FRE FRIE FRIE TR R
DAEI6/13] 11 0mH Al JEH(3) 15.94 |pgha K (3) 15.95 %4 F—(2) 16.94 |HA  HHE (1 20. 01
(0.991m) AR +1.3 |NTE +1.3 |NTE +1.3 |NTE +1.3
P04 5/13)  ~ve— IR HEREG) 47m25 |G BEA (D) 18m68
(6.000kg) | MR R

Page:1 of 2

JLBT (NGR: R Hiedk)



Page:2 of 2

EROFEFPELRREFERSR 20234E5 A13H (£)
¥ BEAREEXNRK= RE—ER
ST A L 2 B R LS
B FiH 147 24 34 447 5{ 6 74 8
41{5/13 100m I K&EQ@ 12.85 | K76 FndE(3) 12.93 | =& #FE(2) 13.31 [ #l%E(3) 13.61 \FFF - J9%(2) 13.83 |t S () 13.90 |HH &< 5(2) 14. 10
SO -1.3 |FH -1.3 |FFRE -1.3 |RE -1.3 |INT&E -1.3 |LODESTARAC -1.3 |FFR&E -1.3
#7{5/13)  200m | ELEQ) 26.22 |HH filiZE(3) 28.10 W% HE(3) 28.30 |# i (3) 28.92 |jE% () 29. 13 |ffil - AT (3) 29.28 |fBA  B&EEB) 29.44 |HR AREE(2) 29.75
o +1.8 |3l +1.8 |HE T +1.8 | FH P +1.8 |LODESTARAC +1.8 | JRHTH +1.8 | +1.8 | ke +1.8
47{5/13]  400m |l HEME(D) 1:05.46 | =% HAE (1) 1:07.06 |P8)I1 5.0 (3) 1:13.04
FR A NG FH P
&F|5/13 800m |kl (1) 2:12.25 |/NBF BRFE(2) 2:21.33 |FH ffHE (2) 2:28.57 |RARE  WEAE(2) 2:29.03 |7 B (3) 2:30.01 A HREL(2) 2:33.43 |1 E3) 2:41.13 | FHRE (1) 2:41.18
FRIE NGR |\l 5% ML I T T ik FRIE
L 5/13) 1500m  [iEk Z&h3) 4:52.21 \T§%  #79(3) 4:53.32 |RAME  WE4E(2) 4:56.97 |FnfH e (2) 4:57.00 |F@Jk  HEF (3) 5:02.65 | B (2) 5:03.20 [[UA  HHE (2) 5:05.53 |7% B (3) 5:07.43
N N R s ep FRPET N R BET
47{5/13) 100mH | 8  #5%©) 15.43 |l RH4(3) 17.15 [f@R RME(D) 17. 46
(0. 840m) R il 0.5 |FEP%H -0.5 | KMl -0.5
47{5/13] 400mH | KM 1:11.43 |fkE T4 G) 1:13.17 |(LiF  plE (2) 1:16. 40
(0. 762m) Kl B4 TR
#F|5/13 Ak % W (3) Im40 | HA(2) 1m35 | (LIt ¥ ) Im25 |EH 2k (2) 1m25 |k (= HERR (2) Im20 |#k  HDOA(2) 1m20
BT TR B B WO HE T
ZF{5/13 AR /N (2) 4m94 BB i (3) AmT7 |fE 2R (3) 4mb2 |HEA FEL(3) 4m50 |Fefk  EHL(3) 4m46 M EE(2) 4md5 |KEF HESE(2) 4ml3 |B5H FIT(2) 4m10
FRR A +1.2 | FHPES +1L.0 [T +0.4 | LODESTARAC +0.7 | PR +1.0 | FRRHE +0.7 [kth +1.5 | Kt +1.6
5/13 = Beik %R EHEG) 980
i) -1.0
ZF|5/13 T PRI AW (3) 12m11 | K% & (3) 6m98 | Al A (1) 4m83
(4. 000kg) |l FH A4l & 1K NGR| N ¥ aERG]
ZF|5/13 FA £ A B (3) 21m95 | HUME  WEFn (1) 15m08 | H#F 7 47% (2) 13m33
(1.000kg)  |LODESTARAC N T8 FrE
L5/13] Arw—H A WA (2) 36m59 | KE  FH(3) 35m53 | 1L AT (3) 27ml0 | =4F  #ERE(2) 2Tm03 A HE(2) 20m55
(4.000kg)  |&ik%d aERG] WNT FRIE WNTE
4{5/13 0 HRH HHE(3) 38m32 |kl = = A (2) 33m12 |3 -6 (3) 29m58 ||l AT (3) 27m82 | Z4F  #HERE(2) 24m77 | FHE B (2) 20m91 |#@is 0k (3) 19m44
(0. 600kg) | BphiEs N FH AR aERa] TR R FH PR
A 5/13] 4X100m |[Basf 51.61 | FFnE 52. 45 |“FEF1H 52.81 |N T 54,69 |3 T 55.31 |Htks 55. 63 |fHH 565.97 | KL+ 56. 41
HH RIEQ) HH S<H(©) At i (3) WoF EAR () SEfE A (2) FARE #0Fn(3) —E HM©Q) A PE®B)
E Ll B )] K HImEQ) KP FIE(3) EE O HEQ) ko ERHEG) =6 (3) JrE B HRORIE Q)
Bl KJ5(3) —E O HEQ© T EEEG) M 2252 KB Q) fsE DBR(3) itk EEQ) Vel #03@3)
M #h2EG) %R EHEG) FRH REE Q) FFE - TEQR) HMH o EA®B) G (3) A #E Q) IR EE(3)
FHI5/13) 1 00mH  |[fEx Kk #k(©2) 16.14 | =8 HH(2) 18.93 |[H Flx 3 (3) 22.58 |ikH  H(2) 23.55 | EH sxAE(D) 25.62
(0. 762m) FERH +3.3 |t +3.3 | RS +3.3 | +3.3 | RS +3.3
T-h|5/13 fia hupse KU A5 (2) 49 | R 1ZD7H(3) 6m28 |1 B4 (3) 5m73
(2.721kg)  |BEER AL b
#F5/13 300m |Ai#E AEEEQ) 50. 36
NTE
F045/13] 3000m |[H Flef@)  10:58.30 |[4A  #EG)  12:04.23 [H5AK B+ (3)  12:29.28
I LG PR
F45/13] 300mH |FFF JhE(©2) 52.68 |IEA  EE(2) 54.18 | HRE(2) 56. 63
(0. 762m) aERG] SRR SRR

JLBT (NGR: R Hiedk)



